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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge AS & A Level Psychology 9990,
and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s curriculum
and assessment objectives.

In this booklet candidate responses have been chosen from June 2018 scripts to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

June 2018 Question Paper 11

June 2018 Paper 11 Mark Scheme

Past exam resources and other teacher support materials are available on the School Support Hub:

www.cambridgeinternational.org/support

Cambridge International AS & A Level Psychology 9990 4
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Example Candidate Responses — Paper 1

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response - high Examiner comments

Section A @ The wording of this particular
question means that just
Answer all questions in this section. answering ‘independent’ is correct.

Beware, however, because

‘independent’ means different

1 Inthe study by Canli et al. (brain scans and emotions), one variable was investigated by comparing things in different contexts in
neutral and negative scenes. psychology, so it is good practice

. to use the whole term.
(a) Isthisan independ“}r a dependent variable? Include a reason for your answer.

e e Neither the concept that the
o d DAEPA DA D X SR NG E B UL ... DOYUTHL.. 0L, 2 .84 8.

indAanAandant vnariahlAa ic AhAanAAA

o\

SROTA SX O NI Y Xk 78 38R ] OO : [1] Examiner comments are
N\ alongside the answers. These |-

Answers are by real candidates in exam conditions. explain where and why marks
These show you the types of answers for each level. were awarded. This helps you
Discuss and analyse the answers with your learners in to interpret the standard of
the classroom to improve their skills. Cambridge exams so you can

help your learners to refine

their exam technique.

\_ /

How the candidate could have improved their answer

» Although both parts of this answer earned full marks, it would be good practice to get into the habit of always
specifying ‘independent variable’, as using just a single word could be insufficient in response to other questions.
Note that an ‘independent measures design’ would be another case where a single word answer of ‘independent’
may not be adequate.

» Operationalisation is a concept that often leads to confusion. The simplest way to answer such as question would
be to think ‘How could | manipulate (or measure) this in practice?’, then write a description.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

In part (a) a common mistake was to give the dependent variable in place of the independent variable. The difference
between these two variables is simply one of giving them the right names. One way to remember which is which is to
think ‘What is the researcher INvestigating?’ this is their INdependent variable. The dependent variable is exactly what
it says, changes in this variable depend on, i.e. are caused by, the manipulation of the independent variable.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.

5 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 1

Question 1

Example Candidate Response — high Examiner comments

1

Answer all questions.

From-the study by Yamamoto et al. (chimpanzee helping):

(a} Name one of the objects most frequently offered by the majority of chimpanzees as a potential
taol in the first ‘Can See’ condition.

5&1&“ ..... eeeeeeeeeeereees e bt s e et e te e e e e e et e et et e M1

(b) What behaviour was displayed-only-&he chimpanzee Ayumu in the ‘Cannot See’ condition?
Mr(%§¥goék\-ﬁimd?{&.KQA’H\(GLS,‘/WQ.L\@.QALAQ/&P\‘{L}W .........
.LNL\Q.;\”\’\\L ‘\1\(;0-9\/1; b;"'\/\vr‘"}ﬂ.ll WCM;...C.Q(’J... /@.p,@_aﬁg@I{'() F&L(;.c,l{(“—\a{ﬁrﬂ‘ﬂbln[ﬂ
ool ¥ P

: cuﬂm/rfiaﬁ 'fer‘r o &HL;(},M

Qutline one conclusion from this study.

ﬂﬂ%w%waﬂw%ﬁm%_ﬁ]{ugzlﬁ (A7) ,‘Cv- 5 ;l.~)r,vl /erbf/n—e

/ J
).ﬂ;\amm“e%\ﬂ\wwWLn\GHAbMBMZQAﬂ&SamUQhﬁ%%%M
,fir.\ii%mi.,.w...h;?ﬁ..mlﬁd.:fac.bmﬁf..31..imqm.%m.4..u...elmhts.}ga&e&(..[21

ﬂ The question asks the
candidate to name one object and
they have.

e The candidate has given the
correct answer.

e The candidate has given
a full answer by identifying
that chimpanzees ‘offer help’
when they could ‘assess their
conspecifics predicament.

Total mark awarded =
4 out of 4

How the candidate could have improved their answer

(b) The candidate could have outlined the behaviour of ‘peeking’ in a more succinct way.

(c) Comment above also applied here as the candidate scored full marks by the end of the second line.

Common mistakes candidates made in this question

(a) Giving the incorrect tool in the first ‘Can See’ condition.
(b) Describing a behaviour that was not unique to Ayumu.
(c) Giving a result from the study rather than a conclusion.

Cambridge International AS & A Level Psychology 9990 6



Example Candidate Responses — Paper 1

Question 2

Example Candidate Response — high Examiner comments

2.

‘From the study by Saavedra.and Silveriman (button phobia):

(a) Desciibe-how the boy in the study was diagnosed with his phobia.

}-X.‘fxe,m{..ms,d\ag\m,wé%xx..\(\’\s..@kxs\csxa..\oCcaQs&.Xx&.;Qz:\.........
6.\\ 3(\\2_ DML e Kac a n\(\o\é\a \’\&-éﬁéx‘cw\d

(b) Outline one piece of information from this study that.supported the nurture side of thé nature-
nurture debate.

c“,\&\.c\.aéeﬁ?: .bom\..c:&.b&)&&a(\s.&.e,\\.m}(\\mﬂ\\e, .e.&\\(\(m\m\m& .......
’ }&\\e%:.m.;mas:x(\..m%&.i\&\X\.X&S\.(,\é\LQ\QQ\(}%...S.\X\Q.,..QX\Q‘()’.\K\.‘.....,...

0 This response clearly describes
how the boy was formally
diagnosed using DSM-IV. The
candidate gives two relevant
points by identifying that he met all
the criteria for a specific phobia,
and did not meet the criteria for
OCD.

e The candidate gives one piece
of evidence from the study and
then clearly shows how this lead
to his phobia which supports the
nurture side of the nature-nurture
debate.

Total mark awarded =
4 out of 4

How the candidate could have improved their answer

In part (a) the candidate did not have to describe the treatment the boy received. The question only required
candidates to consider the diagnosis.

Common mistakes candidates made in this question

(a) Describing what was the cause of the phobia rather than how it was officially diagnosed.
(b) Outlining why the phobia was not nature rather than why it was nurture.

7 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 1

Question 3

Example Candidate Response — high Examiner comments

3  Outline two quantitative results about ‘imitative aggression’ from the.study by Bandura et al.

“““ ) 0 This is not a result but a

«\:—U\’\&/\Q models. fame gex A RCACHRES 0 conclusion.
2 %oawemmorephgs\caitj ...... oLgressive. . than ?X;;‘glgggiigj;enggggy;e;’e;ﬁ;;
. xr\S\\’LS ....... AVRAR  wwve .\ &rbﬂnﬂ ............. vessive and was able to complete a
Yhan  Yoous: Thak bons wert wiere Q\%T%SSNQ ”?r’a”iggtf#' Cotmparri]s.o”'?‘lis
‘ 2 X 00) X% SRS MRS allowed them to achieve fu
%‘(%W ..... ) reseion.. S Mmare. of-a _meode marks.
behay wue 4]

Total mark awarded =
4 out of 4

How the candidate could have improved their answer

The candidate needs to take care not to confuse the results and conclusions from a study. In this case they were
fortunate that they gave two relevant answers in the second space in order to access all of the marks.

Cambridge International AS & A Level Psychology 9990 8



Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

3 Outline two. quantitative results about ‘imitative aggression’ from the study by Bandura et al.

1‘ ._L..QQK...Q&..?Q..Q\\'\XQYQ,Q..\1.\.&\&\@..Q‘Q.S@&\.!.Z.Q\..&&\...&%{!&S\\&..ﬁ&&ﬁ\;... © Not a quantitative result tha
DeNened. ALV 0. dedes. akvadon 8 Bandura published.
................................................................................................................................... : eesssavecasarnsrarens e The Candldate hlnts at a
Q\\C\S d\ﬁQ\Q\{Zé\ BN\ va\S 26 correct result but does not give a
ANCAC. SO0 XA X SRS Q\\\\@\c&\ eaé.\.m ....................... comparison.
.......................................................................................................................................................... Total mark awarded =
.............. 2 out of 4

How the candidate could have improved their answer

This candidate needed to ensure that they could accurately recall results from the study. For example, when
discussing how children behaved after observing an aggressive model the candidate should have been much clearer

on the outcome of this, in particular how boys and girls responded differently.

9 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 1

Example Candidate Response — low

3 Qutline two quantitative results about ‘imitative aggressionfrom the study by Bandura et al.

(SR PSS SR W XS A AT 2 STV SERCG 9N SA—
EET RTINS o P RSN S X TET- W EX V-V G 'S o Vo W— _
A ANKS DS REOEEINZ N M W
2O OO T PO DO RO UIPTOINt

Examiner comments

ﬂ The candidate does not provide
a result from the Bandura study.

Total mark awarded =
0 out of 4

How the candidate could have improved their answer

The candidate needed to provide a quantitative result from the study by Bandura et al. which included a meaningful

comparison of the behaviour between boys and girls.

Common mistakes candidates made in this question

» Describing a type of quantitative data collected rather than an actual result.

* Not describing a meaningful comparison of the behaviour seen in the study, e.g. between the genders of the

participants or related to the gender of the observed models.

Cambridge International AS & A Level Psychology 9990 10




Example Candidate Responses — Paper 1

Question 4

Example Candidate Response — high Examiner comments

4 Describe how Andrade (doodling) recruited her sample of participants and explain why she
decided to recruit themi in-this'way.

[

......... s Shroual ety

0 The candidate clearly describes
how Andrade recruited the sample
for her study.

e The candidate clearly explains
why Andrade recruited in the way

m%uwwmkmbwq ................... et ettt 4] she did.

Total mark awarded =
4 out of 4

How the candidate could have improved their answer

In their final sentence, the candidate begins to describe how Andrade ensured internal validity. This was unnecessary
as the question only required them to consider sample recruitment.

11 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

4 Describe how Andrade (doodiing) recruited her sample of participants and-explain why she

decided to recruit them in this way.
B 3;»«\09\& 1000..... WO ... A0 awp\wh M bt
...t 6&1&4

by o) e b
NSy g mm
d@w’f R m&an\ ........

sy "\!;s; o
Qﬁmw G,

- g\‘\w ............. M ...... bﬁ}u&&\ﬁm \QUU\ e & .’\'G"s [4]
\,miéfa ﬁam S 2 ok 0\ X\u\/\ ‘

X¥é<
W & W i
ﬁmxg Yoo L) e W@ﬁ? i

| e
mm& ...... pe M%@Wg?h%

0 The candidate identifies the
method used by Andrade and then

describes what happened in the
study.

e The candidate highlights one
reason why she recruited in the

way she did.

Total mark awarded =
2 out of 4

How the candidate could have improved their answer

The candidate needed to focus on how the sample was recruited and why it was recruited in that way, rather than

explaining what the participants actually did in the study itself.

Cambridge International AS & A Level Psychology 9990 12



Example Candidate Responses — Paper 1

Example Candidate Response — low Examiner comments

4 Describe how Andrade (doodling) recruited her sample of participants and explain why she
decided to recruit them in this way.

ﬂ The candidate begins with one
way in which Andrade recruited

%L@m@ Wq,)pmj,& ) W her sample.
MQUM fo.. /ha,u\e a. W SRk, et W ..

e The remainder of the response
does not give details as to how
the sample was recruited or why
she recruited in such a way.

Total mark awarded =
1 out of 4

How the candidate could have improved their answer

The candidate needed to focus on how the sample was recruited and why it was recruited in that way, with specific
reference to Andrade rather than generic or potential reasons.

Common mistakes candidates made in this question

* Incorrectly describing the recruitment technique as voluntary.

*  When explaining why participants were recruited in a particular way, they did not put this into the context of the
Andrade study.

13 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 1

Question 5

Example Candidate Response — high Examiner comments

5

The study by Piliavin et al. (subway Samaritans) is based on the concept of diffusion of
responsibility.

(@) Describe.what is meant by ‘diffusion of responsibility’.

b\mmﬂl(Vu\%N\\o\\\{jﬂmNMMQQ\M\\MMW%
WMWW@»NM\MWWMWW,M
MWMM%M%%\\&%MNMW\»ﬁMQNMMH
o foax. Noo. Wwpwmmm,pﬁ&x%@\hm
2. had: Omanas. . mmhmwam\m\%m&ﬁ%\wm
Ao, e Ao Bos Damnty ot St Nilkion, /fW\’\f\g NA@ mmw
)ow»g AR 00 s, 0

(b) Outline how one result from this study does not support the concept of diffusion of
responsibility.

S Ao Sy Rt e S a0 Jothpdh . B0 %00 M el el
O 2008 NGy, 9. edged. . A28 s Ty detank Ak Mehwston

A

a The candidate begins with a
clear definition of part of the term.

e The candidate then clearly
describes another component of
the term.

e The example acts as an
elaboration on what diffusion of
responsibility is all about.

Mark for (a) = 3 out of 4

o The result given does not
answer the question set. It is a
general result reported by Piliavin.
However, Piliavin did mention how
cost-benefit analyses may explain
some of the helping behaviour.
Mark for (b) = 1 out of 2

Total mark awarded =
4 out of 6

How the candidate could have improved their answer

(a) The candidate could have elaborated on one of the key ideas with an example of how this would be seen in an
emergency.
(b) The candidate should have described the key result of group size not affecting helping behaviour, with it being
opposite to prediction.

Cambridge International AS & A Level Psychology 9990 14



Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

5 The study by Piliavin et al. (subway Samaritans) is based on the concept of diffusion of
responsibility.

(a) Describe what is meant by ‘diffusion of responsibility’.

mis*amsre?e(s%ﬂe%\\eowm@\\ex\am

anergency... ox.eedent.. Yolkes...dace., e xesponeloly .
2% Mg .35 ! $Rused”_oc Sided. . among Ree_panpl
. Boeues Q}; ............. A POPRIN 624 WPR. LA B A ERTRER “a ¢4 .-.j &.... .-........m. > 0 The Candidate gives a Clear
presert,. o ... peton... Eelivg.... ooy cespansibl¥. | description of part of the term.
-Dreu%ckas*S%@- Me... voxe. - oy shandes. ............
pesent.,. e Ness. Wy 1 te Sbe. ayone Ao el as....
R o \E5' v Lt
2oCh.... pexsﬂn...&e).s......Xx\‘r\&.é..o.b\.\&aho.n..0.(......res&p.onsxb.t.h%}(....?ﬁ. © The candidate gives a second
“ ) ! \ 3{ e description of part of the term.
Rt L6V B0 N I oo ot assnasetatnsne sana St ansnins S ok s enta o sE s smcmenas ssti it bunsys | D] Mark for (a) =2 outof4
(b) (?utline‘lggw one result from this study does not support the concept of diffusion of
FesponSIBiy- © Although the candidate has

WVfOﬂMVQ&M&QGﬂ\’QM@W,OWW provided a summary of some of
ewﬁh@uﬁ- weel,..on.... 68,1, o e s ool modly | the results of the study, they have

not been able to show how this

»O\lOW&)LQi'\"/\%WT&Q@Q\&M@\ ...... Ye......... does not support the concept of

vidhon. W olso. Manpened.n.. eany!. isk hRowe. diffusion of responsibility.
Manpen eaney YL Nt for (b) = 1 out of 2

Total mark awarded =
3 out of 6

How the candidate could have improved their answer

(a) The candidate should have added an example as an elaboration or described about how time of help is affected.

(b) The candidate should have described how group size did not affect helping behaviour. This is the opposite to what
would be predicted if diffusion of responsibility was occurring.

15 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 1

Example Candidate Response — low Examiner comments

5 The study by Piliavin et al. (subway Samaritans) is based on the concept of diffusion of
responsibility.

(a) Describe what is meant by “diffusion of responsibility’.

SISO %\%g‘\w\m . S hih
....... RS C/r\. 25,0 e g, \.ﬁ\\& % mm N\

ae..nedr... Saee QQ}S(\@ Moty @A@ oVher.....
ARy wWNm W is m PR ..

....@s_._..%m o T X w@vgﬁxm O gd

...... Q‘CMS’& ﬁ%o. *\\‘{m \\/‘\\3‘ AR 5’&‘ & Jan .
rsed....on, ... sﬁ\a\»\*um o.M S’u{\s&%ﬁ\ © The candidate does not

describe diffusion of responsibility.

%6 \(\‘M})\\ (/M\ oos. o \l\k \I\Sz)c AR It is a description of what could

8 ok a Waloe J“L{N\ rm happen in an emergency.
Q‘ %’ \ G \ W\ﬂo Mark for (a) = 0 out of 4

E.z,

(b) Outline how one result from this study does not support the concept of diffusion of
responsibility.

D aa O\QN\EB ‘\§V \(Lb\ ol KX\N\\&S _______________ @ This is not a clear result nor

does the candidate use it to
WX\,@ \N\W W\leh &ﬁ \7@3& oW m(/g.t ........... Outline Why |t doeS nOt SuppOI’t
B o W\m et diffusion of responsibility.

Mark for (b) = 0 out of 2

Total mark awarded =
0 out of 6

How the candidate could have improved their answer

(a) The candidate needs to be able to correctly define the term diffusion of responsibility.

(b) The candidate should have described how group size did not affect helping behaviour. This is the opposite to what
would be predicted if diffusion of responsibility was occurring.

Common mistakes candidates made in this question

* Only briefly describing aspect of the term diffusion of responsibility.
» Describing the term in the opposite way to what it actually means e.g. more people will mean more help.

Cambridge International AS & A Level Psychology 9990 16



Example Candidate Responses — Paper 1

Question 6

Example Candidate Response — high Examiner comments

6 In the study by Dement and Kleitman (sleep and dreams), participants were fitted with electrodes
for the EEG (electroencephalogram).

(a) Describe the procedure after these electrodes had been fitted.

Peec e eleoirontes ook e feds the. sxcinanis isould o fo.....
Neg: Yhen, Shev woouldh be. wadleenug. I @ b2l Qg wereoleon
w0 ............g;cﬂ\cxsak M@\.M@@Wexwmﬂ\im rd ottt accordmg

ﬂ The response gives a logical
step by step guide to what a
participant went through from the
point where electrodes were fitted.
Mark for (a) = 5 out of 5

(b) Explaln one reason why the procedure was standardised in this study.

Sandadiced s Sudu o weroge
e nembﬂm oL poedures mspwﬁcaﬂq explamde.
oxqecmnand: . ephaae:This is @ Shenadh. benauge. iEihe efedment
C{M\)Q)L Lol Weoded honthe F@SQ“&Q dn. mcmnmred Ly (@U/(ﬁ’ e The candidate gives one clear

| ae. Yo 8ame2 Shen e indhad oxpedmarndt aan ke s do . rdgblf ;ﬁgsgg;;‘ggiﬁ:{'g)bi?‘; Sxplains
' ; ; 3]

mention the Dement and Kleitman
study.
Mark for (b) = 2 out of 3

Total mark awarded =
7 out of 8

How the candidate could have improved their answer

(b) The candidate needed to add an example from the study about an aspect that was standardised which would aid
replicability.

17 Cambridge International AS & A Level Psychology 9990



Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

6 In the study by Dement and Kleitman (sleep and dreams), participants were fitted with electrodes
for the EEG (electroencephalogram).

(a) Describe the procedure after these electrodes had.been fitted.

0 TR LSS0 R SRR R S R AR S
..... Sher. ey S0 e e ek B GCBEL L R

....*Rm\:\j...m&tit....’&\&\.siis...m.s&m\x...'.%....\?mg.....\.&m..'@mm&\\\%.m..m‘x.\.........
T amasing e RS Ay AN NI N IO A

N
kwgmo%xg\s MR \\Q\l\\\s A\ \3{\\\%,&@\@\ AR, A 0esoe L A5 @ The candidate gives most
A . ’ S T Ay & of the logical step by step
Qs\f\\&\ix\\\\\\&mm\x\a\«mi\&v\s SN AVNNX progression that a participant went

N SN ettt through.
Mark for (a) = 4 out of 5

(b) Explain one reason why the procedure was standardised in this study.
neyoredie.. s Sendordisd. et . B SORS. Y.
3 30 S, IS, SONNRAU R, i B SOntiesisd., RS ...
..... NS SR S M NSNS ST S NSRS ST S V—
....‘.\\L..&m&".ﬁ\m’.\..?s\x{\&..»\\iw....G_\\m\{&i\...&\/m&{\mi...&i\&%"x\m&&%@ ..... @ The candidate does not give

....?m..&&m\\...%ﬁx\%kxm.ix\.«mm&...m...m\..&m...&i\x..&&tx\m..;Qm&........... a reason why standardisation
. e was necessary. The response
\‘5\\\\%&%\\3\\3\)&%\3“\\9&&“‘1 ................... e e 8] | focuses on describing what was

standardised.
Mark for (b) = 0 out of 3

Total mark awarded =
4 out of 8

How the candidate could have improved their answer

(a) The candidate should have written one more aspect of the procedure, for example, stating that they work in REM/
nREM.

(b) The candidate should have given a reason as to why standardisation was clearly used in this study (e.g. for
reliability or validity) and then put it into the context of Dement and Kleitman.
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Example Candidate Response — low

6 In the study by Dement and Kleitman (sieep and dreams), participants were fitted with electrodes
for the EEG (electroencephalogram). '

(a) Describe the procedure after these electrodes had been fitted. .
....... | [W@L/C{—r.@mf )’\610‘9 D T s

Ooronm 010&\1,,:»/«)\ [ — me’\
wIhun. Dleep.. 1 (\EEM S ENA

SWAp..... TRt SRR St

TTo C{/Z%‘QVM\M ........ V\)MWV ......... [ V7T W WO
...Q@.Laqi\.v.'u.xj.......l....;.mo_wmvmy Y [1mgzdt....
Ao W Y P OF dveam.....coyens.
IS QLML AL Chst o BD..... Dl
Ehelr odes rA)nn/\(ﬁL/_.Q PO i<

WW‘TNVQWMD\N/YY??V\VWQSIPMlé(&/
v O\ vy W e Contem*s A
o..f?\.... VALY VI E SR € S— LA LoD,
SO Ffnn PIQ NN e (S
{1nIces. €2 Bhe...... Aare.....conteny.
................................................................................................... weuen[B]

Examiner comments

0 The candidate has not
described the procedure of the
study.

Mark for (a) = 0 out of 5

e The candidate has not provided
the reason why standardisation
was good in this study.

Mark for (b) = 0 out of 3

Total mark awarded =
0 out of 8

How the candidate could have improved their answer

(a) The candidate should have described what a participant went through in the Dement and Kleitman study rather

than describing the function of the apparatus.

(b) The candidate needed to give a reason as to why standardisation was clearly used in this study (e.g. for reliability

or validity) and then put it into the context of Dement and Kleitman.

Common mistakes candidates made in this question

* Not describing the procedure as a logical step by step answer.
* Not describing the procedure in detail.
» Qutlining part of the procedure before the electrodes were fitted.
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Question 7

Example Candidate Response — high Examiner comments

7 (a) Describe 6né.assumption of the cognitive approach:

Oxe.. Mm so. .. bchonts....oud... chma.... o B.......

aeflised)...in. Fiwa.oy...cativ. e, .sh.. o0 Ay, Th.tomo

&k(wgﬁﬁﬂmmc\wmkmm e
OWW ln ad s Wp?\aw Aerdod &W . \Qf)amw U:ré\m

(b) Studies from the cognitive approach can be used to help people understand a mental health
issue.

Describe. how the results of the 'study by Baron-Cohen et al. (eyes test) can help with
understariding and/or treating. autism.

\meﬁ:odnmﬁlé«&&mm

W@‘m& \MS\\%WLQ%Q “AM 00040 -\kc& ’bﬂx& I«ﬁm &
M 0 M?ww maa,& X Nene o o B RN foi

....... . wsﬁwmw%@ ' g
em"w PR it M o‘

e Y e i,

w\ S0, g\ ey mw o Q\mw&mﬁ

M%M dndic. o gy, graducts. . g{& ....... ¢

(c) Outline .one other. real-world application based on the. resuits or conclusions from the study:

by Baron-Cohen et al.
Ous....Sodim.... vde...vhon... N ool gw‘mwx Jdac. oa
EN aba. havs_ 0. Jigu

Capo. J02h.. .00 ... 000

f%a

... 9, Soce) uﬁﬁmﬁu\c& )ﬁ\\m\ 0 - M g Q...
};ﬁe ..... 366 wmm 3@5 lzc cﬂﬁx R a%wﬁwL!\wz]
O ’Dnm(\ lwgw ol Htiv wﬁrm

ro e " gmpfiono Poaple nroond ﬂﬂm.

ﬂ A clear answer giving examples
of what a cognitive psychologist
believes in.

Mark for (a) = 2 out of 2

9 Two clear and relevant results
are given by the candidate.

e One example is given as to
how the results can be used to
help diagnose autism earlier.
Mark for (b) = 3 out of 4

O A well-thought through
response based on the results of
Baron-Cohen.

Mark for (c) = 2 out of 2

Total mark awarded =
7 out of 8

How the candidate could have improved their answer

(b) The candidate needed to give another application based on one of the results they presented in the first half of

their answer, for example, using the test to help improve social skills.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

(a) Describe one assumption-of the cognitive-approach.
TE ossumes. ek e we ol e, e, same. Ny,
we. all_hove. e same _pracesses ; theeRore,. mpd’rw«& ...........
gaX... wgmhve Mbormakon.._contrNs... oMy.... bahaangy Q.
X amehoils...... . E— 2]

(b) Studies from the cognitive approach.can be used to help people understand a mental health
issue.

Describe how the results of the study by Baron-Cohen et al. (eyes test) can help with
understanding and/or treating autism.

R (oems... Byes. des.. prowed) Yo.. e, . sulident
ek for. ekt ....m\\c\.......e)e?xcks 10 Neenry. o2 waing.........
edb\h‘ﬂes........e% ..... sWheds. ot AS HEA. (RN . comparad
Ao voxwmd)! aﬁu)%o?ca\w\wm%m\sm
%%Jreslr ..... ) wversh/cowa)céxeé)mr\\a{%&x/eed\s@ud\
weasued_auheic. Nt iis wenas. o [dRankist
Yeadmarts...com. ocus more._ow.. ey . Aoltlies Yo...

a@@\\ee} Yo adults wot '\L%\“ idren. C(@gw@\ess o] \/\ua\mg

{c) Outline one other real-world application based on the results or conclu%\‘ons frz% the stud}
by Baron-Cohen et al.

be uaee) 0s..cL. Lmeez&um....ai% ..... adu)vemahcml \Vt\e)\hen@
Yoo . de [{“0003 able fo.. C)%JTQLEG ...... 2]

mﬂ Vﬁ)( vmef V”Ud’é ¢ Omale 6k&f)oﬁ/ncm'la% wrth
W\I\V& \D ex

ﬂ There is some clarity here
about ‘inputting’ but no actual
cognitive processes are named or
described.

Mark for (a) = 1 out of 2

9 The candidate achieves
one mark by showing that they
understand that eyes test can be
used to detect people who may
have autism.

e One key result is given.

o A second application of the
eyes test is given, this time in
terms of using treatment to help
individuals detect emotions in
others.

Mark for (b) = 3 out of 4

e This is a potential use of the
eyes test.
Mark for (c) = 1 out of 2

Total mark awarded =
5outof 8

How the candidate could have improved their answer

(a) The candidate should have named a cognitive function that affects our behaviour.

(b) The candidate needed to describe a second result (the question asks for results which means they must consider
more than one).

(c) The candidate should have shown in what context a real-world application of the study by Baron-Cohen et al. could
be used.
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Example Candidate Response — low

7 (a) Describe one assumption of the cognitive-approach.
TR A0 Amrd ey B mseeeh sy peenget
o ortersined Heonit Henorimiey Anands S il
A D50 S0t seasem Hen) HIRRE. & SERHn. R IR SKENS....

0 R O R SN 2]

(b) Studies from the cognitive approach can be used to help people understand a mental health
issue.

Describe how the results of the study by Baron-Cohen et al. (eyes test) can help with
understanding and/or treating autism.

Ao rndin. o Sained, R, s, ase sl
A Susioe. SEn. NI M, g ke
L0020 rndsreiand. nst. 2ot an . Sierie oR aaieme
BTN RN M RN NN SN \B\i“?\ﬁ RS\ NS
...m__.&xm%\\m..?%“X..m\m.m..sm.....\mx...mm..m.\\\m ........

e...i\@ﬁ\x..*m R (\\a%\\mgi\ WMOHE. AT SR, TR ...

o O R N

(¢) Oditline one other real-world application based on the results or conclusions from the study
by Baron-Cohen et al.

Q\\v\%\i\m\& QQ%Q\\“ SNSRI A —
©- Vs s, ASondp. ey ey S . e Ry

- JEENNE. e e e e e e e
2]

Examiner comments

0 There is nothing in the
response about what a cognitive
psychologist would believe in.
Mark for (a) = 0 out of 2

e The response does not
specifically use anything
from the Baron-Cohen study.
Mark for (b) = 0 out of 4

e This is not a real world
application. It is a potential
difference between people with
and without autism.

Mark for (c) = 0 out of 2

Total mark awarded =
0 out of 8

How the candidate could have improved their answer

(a) The candidate should have shown the examiner that they understood what a cognitive psychologist believed in

rather than a generic description about behaviour.

(b) The candidate needed to use actual results from Baron-Cohen to explain how it could be used in understanding

autism rather than a generic account of autism.

(c) They needed to suggest how any aspect of the Baron-Cohen study could be used in the real world and not just the

laboratory.

Common mistakes candidates made in this question

(a) Describing generic ideas about psychology or how the cognitive approach can be applied to real life.

(b) Only giving results from the Baron-Cohen study with no application.
(b) Only giving application for the Baron-Cohen study with no results.

(c) Not giving a different real-world application for the Baron-Cohen study.
(c) Describing another set of results with no application.
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Question 8

Example Candidate Response — high Examiner comments

(b)

A"_ G
s:g(?“

Yieaine

j)“kf)f‘h v

e
e

(a) Before ‘drawing lots’ to decide who became the teacher and who became the learner, Milgram

(obedience) told the participants about the effects of punishment on learning.
Describe what the participants were told.
.?wdewk..m...im\i..%%M..M.W.MFWJ,W%@ diomastra k?) i
rohonsah. Jrodo. . eabeated acuning.spokinadd.50 v licly. o cooductid b
MMW%h\sﬂgwmgywq}mmﬁq,memﬁrs’a,fmseJ-;flu(
* proishonand {icg elechiolly hecked s Mo sl ioccesoes. by |5tk e sz

: k{@n(s..Mswm)..Rdd.f\.ﬁi.é\.«ﬁ..f!a(xmgz...é%ﬁ%.‘..MM'{’.:M.W.M’}I};?:M:.wﬂi&..mﬁhm..&ﬁlzsﬁ

nl%m«lﬁ)zfc!\(f—&l,ﬂ'\c;)'Pb\.’ﬁl,['\{&\lf\’lb\lbugt,l BN TP D?f/nn‘/\f‘ bk soad Yed

nMMchuQPXl\«?@’wQBL’r?\;CA,AV\de\WSTM{.j Pul()kuﬁ/fﬂdﬂmddﬁ&

.93:..5..5.\&.[.\...f}fﬁe(hmn:....s'.\c.l..pm@ob.. Pm’xc'mb : 4]
Explain one similarity and. one difference between the study by Milgram and one other core

study from the social approach.

..4&...51%%...l?é)..J\.’.\‘L[?)nsm..Jcmér.mql..Aka.mm)@.fmhd{mab,z.m.wm...mardxé...uig.x‘......

};l«'-?& ,mg{f)@.ﬁlzﬁ‘.&\&.um"}{s{mak..ﬁt\&..wm&..‘?}(O,ed..}mm.Za:ﬁa.(wmmﬁ.ﬂo:[,@?.‘&fﬂumzk.?&uﬂmbms)

(ﬂy\s..xmbaﬁ;ﬁ..kdmlw.}s.mazJ:..c\o.vJ.oM,.ﬂzj...%fL&‘@A.;a,,..?a,\}‘cm‘fm,b..mm..auf,/&ygeeﬂ}l
.eu..Jm...p%a_:.n.;x{*.stxe%.gﬂm..m.ﬂ&..Z)mm bs&%qﬂm%mzwmu
Scmﬁl«?;am*mdzmzmmﬁﬂ&%ﬁl/q)«fuﬂqéza,mm«m@wmﬁl;klwzmm
p&&m%ﬂw&w«ﬁm,{m%mﬂt,wk&h l%'\\«ﬁrwinf@%a«u}adpwiu}w
Yo Do 0. Ao Aigen hoad aed® Uﬁo oapp Lb .
(n&ﬁzwdiufmhMu.un&lkltﬁoMenhrwWaL\,bmmlaJ}fLaDmyaK%)wa
&mm.k&m,..u.m..An..z.m,.w;&am;.s%.@.ﬁ%.;@@..KTWMM._%L..
6 k...{)aflhﬂﬁ;;"mm..S‘li.\C.L.}.k’....@n*mL..QQ.Q\(\(QD..#).‘.QI.{;%{AM&.P%..fHﬁé%..B)s::‘/C.,.Qﬁ.},.

”\,qum] u&wn&..b.%&ék,.@)dzm(.s...oﬂk..c/./.j,.ng.drs&..;.?ﬂ:m.z.’}l.ﬁew..o.tA.ﬁqcpwml:%.
ll?&mdiMJL\MLM,QLGA«M,QA&M}?%%[M'&&MMc'L\amJGLL(YcJA)
Q.«WAM.,...{L&..Q‘&%..lg..l’&liam‘»....dc.pJa...wM..A.fTQ;aM..&*pwwﬂi..&\:\wl..w..cwﬁ.s@ﬂ...
;n..pmﬁquh.’..@vn..miinj..mmﬂmm%..m(..ww..Aaé..&.fok.;%..mmmwugl .........
M@»Qﬂ;’%l}dﬂ«}.ﬁt%%mmﬂmr% Lot Qe /HU bl ..[8]

aThe candidate identifies
three examples of the effects of
punishment on learning which
were described to participants
in the Milgram study before they
drew lots.
Mark for (a) = 3 out of 4

The candidate explains clearly
the difference between the two
sampling techniques used by
Milgram and Piliavin.

Mark for (b) = 8 out of 8

Total mark awarded =
11 out of 12

How the

candidate could have improved their answer

(a) The candidate needed to mention one more point that the participants were told, for example different occupations
were being tested.

23
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Example Candidate Response — middle Examiner comments

8 (a) Before ‘drawing lots’ to decide'who became the teacher and who becéme the learner, Milgram
(obedience) told the participants about the effects of punishment on learning.

Describe what the participants were told.

Retllmuts..... utet..... foloh. thet... lamins. 5

Gelcders ek r i Bt lshirntands oS b nr . 5 M. aﬁTr:e c?ndiQart]e nottes olne of. the
effects of punishment on learning
[t 5 {h”"“?‘l’"""""f(@ bte.... O8.... Qankhetnry that participants were told in the
lenchize. . Crun..... e occelemted: Tasrmre oo study by Milgram
ot Mark for (a) = 1 out of 4

........... .[4]

(b} Explain one similarity and one difference between the study by Milgram and one other core
study from the social approach#==sti=s\ ek

Ore..... S St @Vhl/o//f/ez - N P /W//f?"’“”‘ &

Shod, . one oledlance ol [ layhnts steds,
~Srrmn bl .. SEmacl¥aa s, en /MQ tander. /Q/%of Vo~

ool el fah. . ot g Shawgak...haw

s rtOA .. Bk il ... Roced. . nd B 2N
Situwatlon, f/wrl\ ﬂg%ﬁ[ ... e .. Fac. Srampe
W\ anr WW\)“ ......... w Lo bl ol it z@rcw’{

1o [l (e Lala e ke Somﬂejcol\ (bl [@u/l/\a()

A ne Alladeals.... fp/u@/ﬁ, /y@_iﬁ@mnﬁf

0+ et L3 rde foble.. Lot © The candidate chooses a

£ Sonchedy Bl fn Lo M lo Lunle relevant similarity and attempts to
i el bt el explain it using brief examples.

Leagons et eereesneeeen
Ce. . diflerence.... fotwaen.  Alese  fuo.. Sualles. k
Bk Albnls Sdy, e wore.  Cocesed on k. st

thet. o orler Eloan.....on... Skpeflos.. beg... o ﬂ@%ﬁ;..am{

y : e The candidate uses ‘aims’
Plloyhs's,  Stwdey  has  troos... nberes. . en. belalns.. bailer ubs | as the difference but nothing is
e Al T A Cliownd . i L .

explained; it is all description.
Mark for (b) = 3 out of 8

Total mark awarded =
4 out of 12

How the candidate could have improved their answer

(a) The candidate needed to write three more points that the participants were told about the effects of punishment on
learning to gain full marks.

(b) The candidate should have given a more comprehensive account of the situations the people were placed in for
the similarity. For the difference, the candidate should have chosen something that could be explained (choosing the
aim means it can only be described), such as different sampling techniques or sample characteristics.
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Example Candidate Response — low

8 (a) BeforeCdrawing lot§ to decide who became the teacher and who became the learner, Milgram
—_—

(obedience) told the partncnpants about the effects of punishment on learning.
Describe what the participants were told.
W M‘mkmm ML She ¢ Tm e hadl
.....\w( q@w 35, caonNed. Ta. g\mww by wm\ . ﬁnﬂ
Dﬂ*u\wﬁ oM Y. WOk o pm\r\ve‘w\xs@
M mfx NV DR x(’,ﬂﬁ@w S Tlaerer M/ ........
"YW@\ N pos 60 e T en. 00d. dnswte. 0 \rTY -@
\otlones JY\/WA \&i\\\ CeadimAL M’M; G052 (ke
ee ﬂmsw%\r\\nm wWYEA . Ex 0 (bf\\\\ Smu@/\mn

& st oMe. [\,ﬁm)% B\Q\XQWMM%QM \?4”f'“

(b) Explain,one similarity and,_ugdj_e_Le_ugg between the study by Milgram and one other core .
study fr6 € soclal approach.

Qw mm\\w\\N \we%@fm Mﬂ%‘qmn (IMN ¥l(mm

e et ove...achons. ein qu&&fu}_ ............
........ W cmr\(\)vaﬂmf (&n& lf\nf; f{rmah ci(mm Na) Yallo.

“. 6&1\%& W) INOA... @ Lo03eSwnlb......

Mot s...ope) 04T
R W M%Em% W SQM
’\—\mﬁ ....... N WM/Q .. e 4§ @3{}3 ...... \‘ Sl
Wﬁ\m‘a L?\\(N\Y}) V;(%u\muﬁ mw& .00 Mg
CN\\\%rmm} \:\w’\f\m%vmm ﬂn.a ol (imm @A{W‘mﬁ

Yo, Foaesed.. Q«\usw‘\m‘) t... o T LAQOT .
e D0 RS NG LS N e N
\ijmr‘&\b\y(m‘*ﬁ z4 S\ v,

......... : . .[8]

Examiner comments

a The candidate hints at one
of the effects of punishment
on learning that Milgram told
the participants, i.e. improving
learning.

Mark for (a) = 1 out of 4

The candidate is able to
demonstrate some knowledge
about the similarity between
the studies but nothing is then
explained.

(3

The candidate confuses ideas

about nature and nurture so

cannot gain credit.
Mark for (b) = 1 out of 8

Total mark awarded =
2 out of 12

How the candidate could have improved their answer

(a) The candidate needed to focus more on what Milgram told the participants rather than a generic description of

what punishment might do to someone.

(b) The similarity should have been explored further by the candidate. They needed to tell the examiner specific
aspects and examples from the study. The candidates must ensure they pick elements of the studies that were

different, and explain this, e.g. the sampling technique.

Common mistakes candidates made in this question

(a) Having an entire answer about what was told to participants after ‘drawing lots’ rather than before.

(b) Only naming or briefly describing a similarity and/or difference.

(b) Using a study that was not from the social approach as the comparison study.
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Question 9

Example Candidate Response — high Examiner comments

I/"%wj g/gd%g@/

? Atleastons of your. %&’é%%%?f%‘ii?:&&?fﬁ:ﬂi:i‘&‘;&iﬁﬁ?ﬁﬁ;‘?ﬁé‘;i?;ar‘;”sZZiiﬁr
.../J.’.’)ﬁ..uﬂa.LID..Qr.CmaQa.}A..4253:1.\0,(!@5{(4/0...(.QMOL{.LL..W/M\GA/.\.&..6.:1..lO.kxéz‘VD:.eLLl).giw.',.i.(.,l;;..i(yvm}.%:”
0_,.)3__5;1{&__““14;.91 ol.qpercdelises rm..mg).dby,ul.,.}mmm,:{n..mu.d&n.ﬂmj...mankm.
Dfeods. Rlack ol oise mm..s.L.\é.la...mmah.ﬁ.\ﬁ.a%..h&;.?.qf&uma.g}gm&..@bm%..
Qb;cl.{:l..bz..{\ﬂ&.?xd‘lbhiag..:Hv.‘:m\tsi..SQJ..:IZ.{QMMJ.,j).{.‘flcfuw}fkn..b(.awafm:i.m.ﬂcm..x,o;/.z.
dpsa o ttcmmdle Jobr chsng Ao _..,..b.wk..w...40321&4.&__@._(_@%@_9%3:314..M(.)M.
Cooshtnd SacKuon, ducd . f.0d Auyp. tssa averlshl o Ao feogp Steda sd ol [
{fw}\,suﬁ?x//vb%«wkmcam?ro\»ﬁzmlrh%/ﬂmma)ﬁyrﬂm%!\«cﬂ" Al

D aseknen.of «YLLS{Z%,;MJ/wMQQW?%g}dm%:gh%?vwﬁ
lg..ML;/.\...Afﬁm‘.cm.gm_a“pmarls..uk@..me..iz.\.XL.J_.mt\é...e?.\c.{.Jm\&m.dzm..Eﬂ..@ﬁal.\ujimﬂ.
(%0141/1.\.,5.::.M,mf&ihh%:&.ﬂ%’\'&\f(ﬁM([ADJ’nfMCDD\m‘bVL‘VBILk&{%

. reaclw’ﬁmﬁeljQwswodl.ac«gﬂsf(wbqlvw}um}[Wmﬂm%wsﬁ'ﬂg%ﬁx,l‘
.szg{z.-.«’lgxlﬁ.m.;,.m.o‘ﬁ)(J,@%..amcl...ﬁmuﬁ..h..w;.\&u,g..Wm.(ma«.fsc«alz..w%ﬂc(.;“m/%
\lc&wum,}ﬁwﬁa\sz{kmmJ&nsm{M:mummk@hmcrem’ﬂﬂ,
‘\Y%AU\NMWM'}YW&AM&AM,MMMJ,Q}\%M\JIQACI§Q¢[/VM.:,4Uﬁ£ .....
Qna{?fmflagmp-efﬂp&/b\wﬁmﬂsmné%@,MWMMWW#M@L

by ik absicle. s Ae ctiantloc fod seaelon Adact. nocdhae procph deoiasa
QMMNMQ@[OA %WuugcvﬁM,Qqued%/mukcﬁ“A%ulh .......

ane VQA,,\‘

ﬂ The candidate has started by
covering the named issue, which
ensures they cover the demands
of the question.

e A well-laid out argument stating
why the study could be considered
ethical, using examples directly
from the Pepperberg study.

e A clear weakness is given
which is described in the context
of the Pepperberg study.

° The candidate gives another
well-argued strength using a direct
example from Pepperberg.
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Example Candidate Response - high, continued Examiner comments
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Pepperberg study.

Total mark awarded =
10 out of 10

How the candidate could have improved their answer

The answer was very thorough but the candidate should have written more succinctly and tried not to use extra paper.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

9  Evaluate the study by Pepperberg (parrot learning) in terms of two strengths and two weaknesses.
At least one of your evaluation points must be about the use of animals in psychological research.
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e The candidate does fulfil the
requirements of the named issue

[10] context.

Total mark awarded =
5 out of 10

How the candidate could have improved their answer

The candidate needed to ensure that every evaluative comment that they made, was in the context of the Pepperberg
study. If the evaluation is written in a way that can be applied to more than one study then it is not in context and can

only be awarded partial credit.
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Example Candidate Response — low

9  Evaluate the study by Pepperberg (parrot learning) in terms of two strengths and two weaknesses.
At least one of your evaluation points must be about the use of animals in psychological research.
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Example Candidate Responses — Paper 1

Examiner comments

0 The candidate has not
explained the terminology used.
The examiner would not know
why this could be a strength.

e This is a generic comment that
could apply to any research that
uses animals as participants.

Total mark awarded =
2 out of 10

How the candidate could have improved their answer

The candidate should have followed the rules of the question by giving two strengths and two weaknesses. Each
evaluative point needed to be in the context of the Pepperberg study. The candidate should have explained why

something was a strength or a weakness.

Common mistakes candidates made in this question

* Not giving the correct number of strengths and/or weaknesses.

» Giving more than the required number of strengths and/or weaknesses.
* Not covering the named evaluative point.

* Not making the evaluative points in the context of the named study.
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